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lllustration 12: From The Following Information Calculate tax liability under both regimes of
Mr. J (Res. 40 Years)

Particulars Amount (%)
Income Under The Head Salaries &l 6,00,000 T
Long Term Capital Gain u/s 112 on sale of GOLD on 1/08/2024 o < 1,00,000

Long Term Capital Gainu/s 112A (ARl 23\n\2y) Py ¢ 1,50,000

Short Term Capital Gain M\ (M) 25,000 =T
Short Term Capital Gainu/s 1A [ 2419|2024 ) — ¢ 1,25,000
Casual Income 2,00,000
Deductions u/s 80C to 8oU 2,50,000




® GTI

Y 89¢-~8vVL

Tene o W\ c‘. Z~"\SL@ S\eb

Floos 2SS0
be\ \:.2SL x §'f,

OTR
Yex oa
LY (y weA
Sty MA
LvCy w2
Cc:s' \ne.
NTR
© G

Y §9¢C-8vL

(vsoL-vasL)x\2.8'/7.

128U % Q—O.,,
L% \o.s8'/.
2Lx To'/,

12400000

215071000
T Q,50,000

T

M1 £y
215000 S15000
S\obd

LDSo

38
25000
129500
too00
\06 8145
e [
Thed —» 1,150

12400:000
NA
T 12,100,000
T




MY (]
L25%00 s1s000
Tox 00 M\ 625U @ S\en
Fiest T ML
bel 26l XS'/, 16250 \e250
Tex oan
Lrey waa (1soL-t2sL)x12.8%/, Zles
Sty WA 1eSLX 20'f, 25000
LTey w2 1ILx \es'/, 12500
(o> \ne. 2Lx Zo'/, toooo
Weds
ru'/,
'\ 21,6590
Mo
Illustration 13: From The Following Information Calculate tax liability of Mr.J (Resident Age
40 Years) loTR.
Particulars Amount (%)
Income Under The Head Salaries Mt [ ¢73,00,000
Long Term Capital Gain u/s 112 on sale of Paintings on 11/08/2024 < 6,00,000
Long Term Capital Gain u/s 112A S\ 50,000
Deductions u/s 80C to 80U 2,50,000 ~
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